

To

The Pay & Accounts Officer,
Ministry of Tribal Affairs,
Shastri Bhawan,
New Delhi-110001.

Subject: Grants under Proviso to Article 275(1) of Constitution during 2021-22 to the State of Bihar (Capital-Non-Recurring).

Sir,

I am directed to convey the sanction of the President of India for release of an amount of **Rs. 3,42,08,000/- (Rupees Three Crore Forty-Two Lakh and Eight Thousand Only)** to the Government of Bihar towards Creation of Capital Assets for **Grants under Article 275(1) of the Constitution** for the year 2021-22 to carry out the following activities approved/finalized by PAC in its meeting dated 17.12.2021:

New Proposal of Grants under Article 275(1) of the Constitution for the year 2021-22

(Rs in lakh)

Sl. NO.	Activity	Location	Funds Sought for 2021-22	Funds approved for 2021-22	
Infrastructure Development/ Supporting and point services					
1.	Construction of Water Harvesting Structure 16 Units @Rs 3.28 Lakh each		52.48	52.48	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
2.	Construction of Drainage System 16 Units @Rs 2.00 Lakh each		32.00	32.00	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
3.	Digging of Chapakal 85 Units @Rs 0.60 Lakh each	Banka Division	51.00	51.00	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
4.	Solar LED Street Light 149 Units @Rs 0.40 Lakh each		59.60	59.60	
5.	Construction of Community Library for the Villages 4 Units @Rs 20.00 Lakh each	Gaya Division	80.00	80.00	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
6.	Solar LED Street Light		26.25	26.25	

(नानोज कुमार ज्ञाना)
(MANOJ KUMAR JHA)
प्रमाणित/Under Secretary
मंत्रालय/Ministry of Tribal Affairs
भारत सरकार/Government of India
नई दिल्ली/New Delhi

	105 Units @Rs 0.25 Lakh each				
7.	Providing and fixing of Solar high mast 17 Units @Rs 1.30 Lakh each		22.10	22.10	
8.	Construction of Earthen Checkdam for Water Conservation 15 Units @Rs 2.00 Lakh each		30.00	30.00	
9.	Construction of Ponds Along with Gabion Plantation Around them 36 Units @Rs 5.14 Lakh each	Jamui Division	185.292	185.29	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
10.	Solar Lights 410 Units @Rs 0.30 Lakh each		12.30	12.30	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
11.	Establishment of Fish Ponds and Plantation around Fish Ponds 72 Units @Rs 5.14 Lakh each	Banka Division	370.584	370.58	State to ensure that technical scrutiny of estimates for the work is done by competent authority as per provisions of DFPR applicable in the state and project is executed by Govt. agency, following transparent procedures.
12.	Establishment of Fish Pounds and Plantation around Fish Pounds 1 Units @Rs 5.14 Lakh each	Purnea Division	5.147	5.14	Facility should be under State Govt/local governing body.
13.	Distribution of Sewing Machines 100 Units @Rs 0.10 Lakh each		10.00	10.00	
14.	Skill Development/Training and Development				
15.	KrishiVigyan Kendra Training in Bamboo Crafting 36 Units @Rs 5.14 Lakh each	Munger Division	41.00	41.00	
16.	Sewing Machine Operation 205 Units @Rs 1.5 Lakh each		30.75	30.75	
17.	Computer Typing Training of 8 Units @Rs 7.5 Lakh each	Banka Division	60.00	60.00	
18.	Bamboo Training of SC/ST Households 4 Units @Rs 0.50 Lakh each		2.00	2.00	Approved only for ST households.
19.	Establishments of Hydraulic Double dies Sal Leaf Plate Making Machine Packaging and Marketing 3 Units @Rs 7.5 Lakh each		22.50	22.50	
20.	Poultry Farming 2 Units @Rs 20.00 Lakh each		40.00	40.00	
21.	Promotion of Rope Making using forest produce & its		5.00	5.00	

(निम्नलिखित क्रमांक
MANOJ KUMAR JHA
कर्तव्याधारी/Under Secretary
अन्तर्राष्ट्रीय कर्तव्याधारी, नियायालय
Ministry of Tribal Affairs
भारत सरकार/Government of India
नई दिल्ली/New Delhi

	marketing 1 Units @Rs 5.00 Lakh each				
22.	Installation of Manual Napkin Making project , Training & Marketing 1 Units @Rs 12.00 Lakh each		12.00	12.00	
23.	Sal Leaves Plate Making small	Munger Division	48.00	22.50	PAC advised the state to ensure selection of beneficiaries in a transparent manner.
24.	OalHaldi Making 410 Units @Rs 0.20 Lakh each		8.20	8.20	
25.	Plumbing and Electrician Tool Kit Distribution 41 Units @Rs 1.00 Lakh each		4.10	4.10	
26.	Beekeeping including-One time Transportation, Boarding, Placement Incentive, Post Placement Support, Assessment and Certification, Toll Kit, Course Registration Fee etc.		4.074	16.60	PAC advised the State to ensure provisions for backward and forward linkages and also marketing arrangements so that the beneficiaries may have increased and sustained income generation.
27.			0.82		
28.			4.592		
29.			3.28		
30.			1.845		
31.			1.025		
32.			0.82		
33.			0.01		
34.			0.15		
35.	Mushroom Cultivation including One time Transportation, Boarding, Placement Incentive, Post Placement Support, Assessment and Certification, Toll Kit, Course Registration Fee etc.	Gaya Division	7.14384	20.68	PAC advised the State to ensure provisions for backward and forward linkages and also marketing arrangements so that the beneficiaries may have increased and sustained income generation.
36.			0.82		
37.			5.74		
38.			3.28		
39.			1.845		
40.			1.025		
41.			0.82		
42.			0.01		
43.			0.015		
44.	Vermi compost Production including One time Transportation, Boarding, Placement Incentive, Post Placement Support, Assessment and Certification, Toll Kit, Course Registration Fee etc.		7.73916		PAC advised the State to ensure provisions for backward and forward linkages and also marketing arrangements so that the beneficiaries may have increased and sustained income generation.
45.			0.82		
46.			6.1705		
47.			3.28		
48.			1.845		
49.			1.025		
50.			0.82		
51.			0.01		
52.			0.015		
53.	Training of Sewing , Beauty & Skin Care for women 150 Units @Rs 0.13 Lakh each	Purnea Division	19.50	19.50	PAC advised the state to ensure selection of beneficiaries in a transparent manner.
54.	Distribution of Bamboo Craft related tools and Equipment 50 Units @Rs 0.05 Lakh each		2.50		
55.	Income Generating Activities				
56.	Distribution of Mushroom Spawn Compost kit for production of Mushroom 50 Units @Rs 0.05 Lakh each	Banka/ Jamui/ Nawada/ Muzaffarpur/Gaya/	30.00	30.00	PAC advised the State to ensure provisions for backward and forward linkages and also marketing arrangements so that the beneficiaries may have increased and sustained


 (MANOJ KUMAR JHA)
 Joint Secretary
 Ministry of Tribal Affairs
 Government of India
 New Delhi/New Delhi

		Aurangabad. Districts.		income generation.
57.	Distribution of Bee boxes for production of Honey 50 Units @Rs 0.05 Lakh each		140.00 140.00	PAC advised the state to ensure selection of beneficiaries in a transparent manner.
58.	Distribution of Bee colony for production of Honey 50 Units @Rs 0.05 Lakh each		140.00 140.00	
	GRAND TOTAL		1952.79938 1575.77	

Summary of Release

(Rs. in lakh)

A	Total Amount approved by PAC for 2021-22	1575.77
B	UC Due (-)	933.69
C	Amount concurred in by IFD at this stage (A-B)	642.08
D	Amount to be released under head of Grant-in-aid – General	300.00
E	Amount being released under the head of Creation of Capital Assets (CCA)	342.08

2. You may please transfer the amount immediately to the Government of **Bihar** and advise RBI, CAS, Nagpur for crediting the above mentioned amount to the accounts of the State Government of **Bihar** in accordance with the procedure laid down in the Ministry of Finance's OM No. 2(45)/ 76-Spl. dated 30.8.1976 as modified by OM of even number dated 16.9.1976 under intimation to Programme Division of the Ministry.

3. No UC is due for rendition.

4. The expenditure to the tune of **Rs. 3,42,08,000/- (Rupees Three Crore Forty-Two Lakh and Eight Thousand Only)**, is debit able to the :

Major Head '3601'	-	Grants-in-aid to State Governments
Sub-major Head 08	-	Other Transfer/Grants to States
Minor Head 796	-	Tribal Area Sub-Plan
05	-	Welfare of Scheduled Tribes – Grants under Proviso to Article 275 (1) of the Constitution.
01	-	Grants under Proviso to Article 275(1) of the Constitution (Charged)
05.01.35	-	Grants for creation of capital assets (Charged)
Demand No.	-	99 for 2021-22 of the Ministry of Tribal Affairs

5. The State Government will implement the projects within the amount released by the Ministry during 2020-21 and keeping in view the spirit of the provisions contained under Operational Guidelines for Inter-State allocation of funds and implementation of Programmes / Activities under Proviso to Article 275(1) of Constitution of India, issued by Ministry of Tribal Affairs vide this Ministry's letter NO. 11015/01/2016-SG-I dated 20.6.2016 and other relevant instructions issued from time to time.

6. State Government shall ensure immediate transfer of funds to respective implementing agencies for implementation of activities to be approved by MoTA PAC / Competent Authority. Progress Reports of Grants under Article 275(1) of Constitution of India may be furnished in the format prescribed by MoTA. A Certificate of actual utilization of the grants received for the purpose, for which it has been sanctioned, is to be furnished to the Ministry as per provisions of General Financial Rules (GFR), 2017 amended from time to time.

(मनोज कुमार ज्ञान)
(MANOJ KUMAR JHA)
मनोज कुमार ज्ञान
Under Secretary
जनजातीय कार्य संचालन
Ministry of Tribal Affairs
भारत सरकार/Government of India
नई दिल्ली/New Delhi

7. Article 275(1) Grants is an additive to State Plan funds and efforts for Tribal Development. Funds under Article 275(1) Grants must be utilized for raising socio-economic level of Schedule Tribes commensurate with objectives enshrined in para 2.2 read with para 3.2 of revised guidelines dated 20.06.2016.

8. The State Government has to ensure that grant-in-aid is used for the purpose for which it is sanctioned after following due procedure in a transparent manner and after obtaining all necessary clearances as required under the various Central/ State Acts, Rules, regulations, etc. In case of construction of infrastructure facilities, norms and Schedule of Rates (SOR) fixed by the State Government should be followed.

9. The progress reports of every quarter should be furnished indicating the physical and financial progress as per prescribed format already circulated and revised from time to time. A Certificate of actual utilization of the grants received for the purpose for which it was received, may be furnished to the Ministry after 12 months of the closure of the financial year by the State Government.

10. This sanction issues in exercise of the delegated powers in consultation with Integrated Finance of the Ministry of Tribal Affairs vide their **FTS No. 19557/JS&FA/2021 dated 10.01.2022.**

11. Certified that this sanction has been noted at S. No. **17** in the register of grants.

Yours faithfully,

(मनोज कुमार झा)
(MANOJ KUMAR JHA)
मनोज कुमार झा
मनोज कुमार झा
भारत सरकार/Government of India
नई दिल्ली/New Delhi
(M K Jha)

Under Secretary to the Govt. of India

Copy forwarded for information and necessary action to:-

1. Director of Audit, Central Revenues, AGCR Building, I.T.O., New Delhi.
2. Accountant General, Bihar, Patna.
3. The Principal Secretary, Tribal & Social Welfare Department, Govt. of Bihar, Patna.
4. The Principal Secretary, Finance Department, Government of Bihar, Patna
5. The Principal Secretary, Planning Department, Government of Bihar, Patna.
6. The Principal Resident Commissioner, Government of Bihar, Bihar Bhawan, New Delhi.
7. Niti Aayog, Plan Coordination Division, Niti Aayog, New Delhi.
8. Niti Aayog, BC Division, Niti Aayog, New Delhi.
9. Niti Aayog, SP Division, Niti Aayog, New Delhi.
10. Director, PF-I Division, Ministry of Finance (Dept. of Expenditure), North Block, New Delhi.
11. The Secretary, National Commission for STs, Lok Nayak Bhawan, New Delhi.
12. JS(A)/ Director (IFD)/ Hindi Section / Sanction Folder/ NIC.
13. Internal Audit Wing, Principal Account Office, New Delhi

(मनोज कुमार झा)
(MANOJ KUMAR JHA)
मनोज कुमार झा
मनोज कुमार झा
भारत सरकार/Government of India
नई दिल्ली/New Delhi
(M K Jha)

Under Secretary to the Govt. of India